EARAROBEEIERT — 2 N— IBISH —F

2014511898 (H) 17E4R1H8

KM >%—# C210 ESR IR
[AE4£] 1% :160,000  ~ 2#&:32,000 ™  37%&:14,000” . 43%&:11,000 " 57 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 3 | TREA 1:31.3 1-1-1-1 | 40.6| — 1 429 | RMEFE (£R)
11111 h7EX 54.0 (=) (+23) “H) Jarr 7 %U-
R:T7HAFUv—I)b B:AIO—TXEX gilll &Rl
5 3| TYUENEFaY 43 g%_ﬂg%n 1(:13/12.>4 2-2-2-2 | 40.5| — 3 (ﬁg) %ig %@‘/R)
L:wy)Edvk B:A-XFroO-X BEHREHPHS
. 6 FLYwXTTYZR 3 'é%fgféﬁl 1:(311>.6 9-9-9-8 [38.1| — 4 (5_149) Efgf‘é (&R)
R:€r/n7nd4 B:F1F—N—-F1 ke
. [BLEY : 56— - BILEER (£R)
alzl 7| #Fvanyr3 3 B 1.(332).2 5-5-6-4 | 39.6 8 (4_3238) ﬁ(ﬁ) nER
R:T7V1T743VYF— B:AATLE-F 2 %
N . hE &t .30, —8-6- . — EREMRD (2R
5 o | TR — i 3 s 1(13/22>3 8-8-6-6 | 39.7 6 (4:;7) %K%Pﬁ(
T4 =T14NN7 N B:TES J—HrTr—LA
= 4 3 | BEB 1:32.3 4-4-4-3 | 40.2 | — 5 400 | BRI (£R)
6|55 AT 1/5 7 0 (757) o) | FERE
L:ZFA4Td=IK B:ehlFT1—% KBRS
717 8 Tr7ALT)XLR 4 3 %%%¥ 1;(3313.0 7-6-5-7 | 40.6| — 2 (i?i) iggg;@m
Lo R UXIR B:T774>Hh7 = RME
- prev _ 10-10- _ EH—R (&)
glglo|7LvyaEx % 9 g 1(/73?:) 10-10-10-10| 38.8 10 (4:316) i v
774X B:TLyanl— # Hm
S N i 3 | EERE 1:34.5 2-3-3-4 |43.6| — 7 560 | fEEX (£R)
Y 2 RNy 56.0 ) ue) | FTYIUEE (48
RiYIRG4 ISR B:TI—Lbyay RS g EERRRI b Y Y a K
SUEE 135, —7-8— . = FlHEZ (£R)
1ol8 110 ax LAY — 4 3 ;6_0 1(355)1 5-7-8-9 | 42.2 9 (:g) i
LY LSAN=—b B:Hy KTy RNA RS
® 1—F—@EBIERL
1T=7r= 1,(3,4),5,(7,10),8,2,6,9
2a=5F= 1,3,4,5,7,8,10,2,6,9
Ja=5= 1,3,4,5,8,(2,7),10,6,9
43—+ — 1,3,5,(4,7),2,8,6,10,9
[ /N
B 1 210H 714K 1-3 5004 e E 1-3 770M JEE 1-3-6 2,690M
B B 1 110H 1-6 610M e B 1=8 870M EE 1-3-6 5,490/
3 260M 3-6 1,020H B & 1-3 730M
6 210 B H 1=8 680

ABICOVWTRDTEEERROODE. TR LIV,




